Year 4 Arithmetic Homework 19 Complete by 24/02/2021
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Answer these multiplications
7 x 9= 63
S0 70 x 9 = 830
So 700 x 9 = £500
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If I know 4065 + 762] = 11686 use this to fill in the
gaps
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IsHﬁst,mberamuLtipLeof /? How do you know?

No cecouase
6, gx1=Sk c~d ax1=4L3

Write the decimals on this numhber line:

Tick which of these is true (there are more than one
correct)

5000 has...

Place value Tick if true

O ones '

X
50 hundreds Y
50 tens X
5 thousands /
5000 ones v

Solve these fraction calculations:
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